MISCELLANEOUS WORK SHEET

The bar graph given below shows the percentage distribution of total
expenditure of a company under various expense heads during a year.
Study the graph carefully and answer the questions that follow:
Percentage Distribution of Total Expenditure of a Company
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The expenditure on the Interest on Loans is by what percent more than
the expenditure on Transport?

FHLOTHEHHBTO Q' lg OFeve), GCUTEGHMISHHEF OFevenal il 615HFHene0
FHANHD HIHHID?

a.5% b. 10% c. 20% d. 40%

What is the ratio of the total expenditure for infrastructure and Transport
to the total expenditure on Taxes and Interest on Loans?

® el Lenwli BpIb CuThGarsHIHMHTer OFevalamiseier FmBH6v, eufleel
LBE@ID U 19HBTT OFevallamBaial FmhHed SpHuleuBMleT alSHlHD HTewIH.
a.5:4 b. 8:7 c.9:7 d.13:11
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If the expenditure on Advertisement is ¥2.10 crores, then the difference

between the expenditures on Transport and Taxes is:

alembuysFHmaTear  GFevey ep 2.10 Gamg ewied, CUTSHGUTHSH  LOBEBID
aflBEpHITT OF600BEHHEG SenL UilevTeT aIGHSHWTFID 616516017

a.¥1.25 crores b.¥95lakhs  c¢. ¥ 65 lakhs d. ¥ 35 lakhs

The total expenditure of the company is how many times the expediture

on Research and Development?
poeasdHear Corshsd CFewe), pmuIFd wBpId  GCoburliyBsTer  OlFevales
615HSHEN6 DL MISTEGHLD?

a. 27 b. 20 c. 18 d. 8

If the Interest on Loans amounted to ¥ 2.45 crores, then the total

expenditure on Advertisement, Taxes and Research and Development is:
FHLOTHEHDHBT el ap 245 Gamg etelled, alembugd eufldeT  OBMID
STIFS B GuburiyBstear GTeHs OlFeve)

a.3 7 crores b.¥ 5.4 crores c.¥4.2crores d.¥ 3 crores

Study the following pie-chart carefully and answer the questions given
below:
Cost Estimated by a Family in Renovation of their House

Total Estimated cost = 120000
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What is the difference in the amount estimated by the family on interior
decoration and that on architect's fees?

pHIILOUC L OeTmsuled o 6 evms iy 1BpIb &L d  Henevehfler
&L L WIHSHMBMT alSHHUITFLD 616316017

a. ¥10000 b. 9600 c. Y7200 d. ¥9000

What is the central angle of Flooring cost?
SOIILUGHHGH G OFevale ol Lemwuld CHTewid 6l6lalene)|?
a.50.4° b. 52° c. 55° d. 53.6°
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What is the cost estimated by the family on painting and flooring
together?

@alwd LBBID HMIHEG GBLUSHTEL WHIILLILILL OTshsd 6F6eve| eTeien?
a.¥36500 b.¥ 34800 c. ¥ 36000 d. ¥ 34500

The family gets a discount on furniture and pays 12% less than the
estimated cost on furniture. What is the amount spent on furniture?

DT EFFTOTEHIBEHDHE HoNehLly QuBm WAL L OsTewdomw ol 12%
GBUTal  QFVISHHISMBEIT  6T60160,  LOJFFTOTAHIHEHEHBTH  OFevalL L’ L
CFHTens  6T6M66T6)Y?

a.¥13200 b.¥ 14526 c. ¥ 13526 d. ¥ 13728

what is the cost estimated by the family on furniture?
LOJEFFTIOTRISHEHHHTE GHBUSHTO WHUILILLLIL L OFHTensd el6lal6re,?

a. Rs.13,600 b. Rs.12,600 c. Rs.15,600 d. Rs.17,600

In pie chart the total angle at the centre of a circle is .
Al L allendsll ULSHH el LenwdHHed CaHment iena|seailen gn(hdHev
a. 90° b. 180° c. 270° d. 360°

In AABC, the measure of ZA is greater than the measure of «B by
24°. If the exterior angle of ~Cis 108°, then <A =

AABCed A geigl 2By ol 24° s Guoaoid ~ Ceir GealesGammentid
108° etefled £ A

a. 46° b. 56° C. 66° d. 76

The measures of the angles of a triangle are in the ratio 2 : 4 : 6, then the

angles of the triangle are

QM (WHCaxmemigHlent cpeiim Camewimideaien aldpmiser 2 : 4 : 6 eleleL
D151 CHment D66y BH6iT

a. 30°, 60°, 90° b.20°,70°,90° c¢.40° 60°,80° d.26° 58°, 96°

14. The measure of each exterior angle of a polygon is 24° How many sides
does it have?
Q@ LeCaTemiddHe @elautm Gelailims Camewi(pd 24° el bHD
LIeOCHTEIHH MBS 61HHNT LISHHIGHT 2 6116160l ?
a.18 b.12 c. 15 d.16

If x + y =10 and xy = 5 then the value of ?f% is




x +y =10 wigd xy =5 aafled =+ -ar g
y X
a. 21 b. 19 c. 18 d. 20

Find the remainder when 4x3-5x2+ 6x -2 is divided by x-1
4 x3-5x2+ 6x -2 - mwl (X-1) oi60 uGHGD CUTH HenL @G B SHTeu.
a. 4 b. 0 c.2 d.3

Which one of the following cannot be the sides of a triangle?
LesTeu(meuaToauBmIe 6Tenel (HCHTeMISHHT LISSmISNTS E(HHS (LPIQuITgl?

a.4,5,6 b.3,4,5 c.2,3,4 d.1,23

The length of a string between a kite and a point on a ground is 90 m. If

the string makes an angle ¢ with the level of ground such that tan ¢ :%,

how high is the kite?

Qh SIBBTRSSGSD HmJuled 2 66l @@ LeTald@ld @l Cuw sl iul L
suiptler membd 90 5, obS SUIB  SHOJWLLLSHIL @1 tan 9=% 61601
Simwujomp Csrenr Sieey (0) gBUGSHIEBSI 6160 STHBBIY  SHeOFUNe(HHH
GI6laIeTe)| 2 WTSHH60 ©_6iTeng)?

a.79m b. 80 m c.7941 m d. 80.4 m

Solution:

tan@ = E

. AC
l1.e. —
BC

~BC=21p
15

In 2ABC, by Pythagoras theorem,
AB* = BC® + AC?

2
907 = (ﬁhj + e
15




In Cartesian plane the points A(0, 0), B (3, 0), C(x, y) and D(0, 5)
represents a rectangle, then C(x, y) is

sy leflwer  sensHed A0, 0), B 3, 0), C(x, y) wmspwdo D0, 5) eem
LeTeMaeT OQFeleusdbmad GBesTe0 C(X, )6 gy

a. (3,5) b.(5,3) ¢ (-5 3) d. (3, -5)

Solution:

A(0,0)
Midpoint of AC = Midpoint of BD

O0+x 0+y) _ (3+0 5+0
2 2 2 2

(403

= (% y) =35

If the vertices of a parallelogram taken in order are respectively (7, -3), (5,
4), (1, 5) and (p, - 2) then value of p is

T Bmeamarsdler o FdU yeelse euflngwns (7, -3), (5, 4), (1, 5) wBmiID
(p,-2) oI SIDWHSHTEO P 6T O]

a. 11 b. 12

Solution:

A(7,-3)

Midpoint formula = (%%)

= Midpoint of AC = Midpoint of BD

- (239




~p=3

Find the quadratic equation whose roots are 3++7 and 3-7
347 wB@Id 3-7 SuEuieuBens cpeutiseTTe GHTaR. SHUly FOETITH
a.x2-6x+2=0 b.x2-13x+9=0
c.x2-9x+2=0 d.x2-9x+13=0
Solution:
Sum of the roots = 3+4/7+ 3-J7 =6
Product of the roots = (3+47) (3-+7) =2

The required equation is
x? - (Sum of the roots) x + (Product of roots) =0
L x*—-6x+2 =0

If ax2 - 28x + 49 = 0 has equal roots. Then the value of a is
ax2 - 28x +49 =0 e1edi3  FLOGITUTL 1968T (LPGLURIGHGT FIDID 6T6d60 A 68T LI
a. 1 b.2 c.3 d.4
Solution:

If the equation has equal roots, then the discriminant D =0

1.e., b*—4ac=0

b2 = 4ac
_b_ 2%

i 449
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